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1.  A stamp costs 23p. How much do 35 stamps cost? 

 

 

 

 

 

 

 

 

 

 

2.  A box can hold 24 pencils. How many boxes would you need to hold 480  

     pencils? 

 

 

 

 

 

 

 

 

 

 

 

3.  What do I need to subtract from 45 to get 18 ? 

 

 

 
 

 

 

 

 

 

 

 

 
 
 
 
 

Work out each problem and then fill in the table. 

Operation:     
Method:  

How:  

Answer:  

Operation:     
Method:  

How:  

Answer:  

Operation:     
Method:  

How:  

Answer:  
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1.  ×,  805p or £8.05 

2.  ÷,  20 boxes 

3.  –,  27 


